fif & K
= e ) B B ==
A~ EWEE(06EKERND3 BHE R (3985 AER)

™ LG

|
gl

Ao

PP Al b
AR 7

LD

FE E (3825 A BHR04)

~ X

W
.n - = :: - aea ¥ il PN
N Pt o, THEEF (2062 X HIRD3) bR e
] /L., i J’% J”;L“”'Hlﬂ;\l.u&n a 'ﬁ’f','f i . f’\:\ i u‘_:'_,1 , g
ol ».\E"\;“—"’ ‘-7 S !—-—"""" E‘ wet” o f ek 7 R e f\[fm»é
PO [ T (3828 ABRD4) (E
?‘ y ' ‘I (\ '. ELL
| (% L
i
an
' — —_— i
TEE (5558 KERD7)
f},/j % \r IRVA- * * w B
b =y : ,
= - E\‘:‘I v L T ; 1Y
= = . o
;—%%Fﬁ (398"?'?( = *E) ‘ ' .8 L W@J.fcn
e e, Mmoo R P
ST m_m AR ;E_ ] AR o B




RKEWRIGAIEIR (1562065 KEHED3) TE LER

B , HHhEE

ZF

N
? .}"A‘ » H
B

T 8

| amaans
RSN
YR

R nal 3 -
TEFER(KBERDI)
N T ” 1 | R
1 \“- ’;
o NN J \,,.r'r
/)‘\':: 4’/
e
AR 2 8
/ & -3
7 5 Ry 38>
ll'-\\ ariva .9/‘
= e HIPEE L=11. Im(ZEEL=11] 1m)

' g2 ‘f).f
JL’ —

KBIL2 H=33.991m

TREETR T X

1.0

-256.0

Ac

KBM.1 H=34. 000m

ih v

o M T T e
EER e A A A A A Y T T T i, 3 7 i , ERR
S P e AR ARy : :

r KSR
e nnnnnnnRNENEL.
‘ ~BRRF

o %

1h ?,_’ =

st 2 1h &

j ANRIOy S8BT (EE) . ~
1:0.5 L=11.1m ¥ TREARRERT




A KFRI (KEERD3I)
*Eﬁﬁﬁ-ﬁ $=1:50 IJ\D-LI:I $=1:50

zlz E X S=1:500

585 >

2
Ge,

(B=300)
+0.0,+11.1

HEEE L=11.In(EEL=11

ANAEIOy VBT 1:0.5

[EE=PZ-NE TR )

KBM. 2 H=33.991m

-25.0
437.0

KBM. 1 H=34. 000m

ERR
S o D.HW.L
M =
. nMARMNNNNNNANE
il ?
h
ANBIOY YT (£E) SN % 43 "
ANEZ0s 2 o ¥ TEEERERT
i o LWL
R
” = V=1:100 /
:"f-‘ﬁf H=1:500

g, g

HEEE L=11.1n(EFEL=1].1m)

| 18-8-40-N  W/C=60%

ANBIAYHIMT (£8)
| 1:0.5 L=11.1m

+11.1

X THEEERERT

- = — ANAZ ey VBT EERERAB 58

KBM. 1 — — — —f— s pe— KBM. 2
— I WL == —_— 133, 091
5 % ;—Ty& N ®avo Y=t 1:05L=11.1n
— ANEIOYHHT 105 (BIv & GH. £B) L=(1.1n
I - S ¥ TEURRERT
= A i NOET 10500 NOET
— S — =2 3
I = p— TEEE: (300) 5700 1800 (300)
— S — — %k fir
N — — |srws S - - *ﬁ‘ﬂ:# yi
30.000 — 2l ¥ + T gls (=] %H %
—-— | E B 0 i * 0 i E
- —|zrux 7% 4=
— . 7, =
— o o & R
ERER BEJ0v s RINE
| — oo | Bk EE —
€:3:9)
o olo olo
= 52 SE
g & 250
7500 & 8 T\
DL=25. 000 " B )
g T 2 = 2
ErE z = = = N
8 AR &
= 3 Al
=KDE (ﬁ.”, \//\va%® ;) 7. o
o o I
. 2 ._4/10.8 2
- > e . L HBET L=10.50m
=% o
e mE s = o=
T é T T T |~
Bkt s S s
8 3 3
T = = > = =
I 8 < % 3
Eﬁ-iﬁﬂﬁ| 3 S 3 3 1
2 il X
T T T T T
] 55 5 2 3 gEZIEﬂ‘ $=1:50
ERBE 3 8d 8 3 3
i - T -
& ok fi = = 2 = N
EET L=11.1In ! -
= & = = = ¥ TEREEEERT
= g B 9 B 6000 5100
B s 5 & & 8
i B S
T T— L T - - - EFREAM
. ] g 8 28 g S e z P - =
& miEkE s s & Zd = + + T ERAN KEHRN KEROD3I
)
T T T T T o E R Az
Nl on E g ¢ et z 3 2 = 2 IBP/ 1B gag
s S © o o - g
i - - - h SM2EE
|ﬂ i ° o o =° s RERNFNEERIE (152065 KERN0O3) TS
@ g € T 2 5
R ®




ZE A

KERII

(REHRD3I)

+0.0

GH=35. 45
FH=33. 480

+6.0

GH=35. 46
FH=33.523

< DHIL
=

+11.0 (+12.0)

6H=35. 21
FH=33. 560

DL=31. 000

DL=31. 000
T

DL=31. 000

I/\'\
As
T ﬁk\h——\r—_
As

E FREAR T

ERAN KERN AERDS
23 P/ 2K 1T R
aM2EE

KERNANKEER (1K065KERND3)IHE

R $=1:100

-

206




— SBEm

ZE A AT

RERI (KER®DI)

R #%4 T

2000 HEBEBER 11.In 2000

3000
—

RELTOSFHBAR o 5

2000 1100

X¥t03

AEE0L

.
X

o LWL
7 = ——
/ /

L /

R % T

TEREBEENER w0

KBM. 1 H=34.000m

R uu UL U

L F| W=3. 00m

500 3000 500

EBF =100
RC-40 1|
INZN7Z NG T NZN7Z\7G

E‘Z ﬁ $=1:500

KBM. 2 H=33.991m

+31.0

» s ¢ B

AR
AL
RE®RI

THAEE N=3.0n) Q>
BB H L=16n

(BEH)
EFREART ]
ERAN KERN|  KEROI |
s
$IRP/IK| REBI
S M2EE
. 206
RERNANKERR (1K2065KERND3)IH
=

R EpN




